

ᄒ ”

ᄒ ᄒ	!!
-----	----

ᄒ (“ ᄒ ”) 2023 3 1
ᄒ ᄒ 2023 3 6
” ᄒ ᄒ 3 ᄒ 3
Δ Π -

”
ᄒ
ᄒ ᄒ ᄒ ᄒ ᄒ
ω =
ᄒ “ ᄒ
ᄒ ᄒ
” 3 3 0 ᄒ 0
ᄒ

ᄒ 2023 ᄒ
1 ᄒ
ᄒ A 1.00

” 3 3 0 ᄒ 0

2 Ĩ Ĩ

Ĩ Ũ Ĩ ' ||

ω Ĩ

" " 3 3 0 Ũ 0

3 Ĩ

Ĩ 88,888,890

136,739,078 Ĩ 4 Ĩ 27.64%

Ĩ 30% 44,444,445

68,369,539 44,444,445

68,369,539

' Ĩ " Ĩ ' Ĩ

! ↔ ' Ĩ Ũ

Ĩ Ĩ ω Ĩ

!! Ĩ ' Ĩ

" Ĩ 4

" " 3 3 0 Ũ 0

4 Ĩ

Ĩ Ũ Ĩ Ĩ + Ũ

|| 4 Ĩ

Ĩ Ĩ

" " 3 3 0 Ũ 0

5 1 ∑ Ũ Ĩ

Ĩ !! ' 4 "

$$\begin{aligned} & \sqrt{2023} \quad 3 \quad 7 \quad \dot{\bar{t}} \quad 4.50 \quad / \quad \text{!!} \quad \overline{\text{r}}20 \\ & \quad \quad \quad \text{!!} \quad \quad \quad \text{'A} \quad \quad \quad 80\% \quad \quad \quad \text{!!} \quad \overline{\text{r}}20 \\ & \quad \quad \quad = \quad \quad \quad \text{!!} \quad \overline{\text{r}}20 \quad \quad \quad / \quad \quad \quad \text{!!} \quad \overline{\text{r}}20 \end{aligned}$$

$$\begin{aligned} & \quad \quad \quad \dot{\bar{t}} \quad \quad \quad \text{!!} \quad \dot{\bar{t}} \quad \quad \quad \dot{\bar{t}} \\ & \quad \quad \quad \Sigma \quad \dot{\bar{t}} \end{aligned}$$

$$\dot{\bar{t}} \quad \quad \quad \text{r} \quad P1=P0-D$$

$$P1=P0/(1+N)$$

$$P1=(P0-D)/(1+N)$$

$$P1 \quad \dot{\bar{t}} \quad P0 \quad \overline{\text{r}} \dot{\bar{t}} \quad D \quad \dot{\bar{t}} \quad \quad \quad \text{r} \quad N$$

$$\dot{\bar{t}} \quad \overline{\text{r}} \quad \quad \quad \parallel \quad \quad \quad \dot{\bar{t}} \quad \quad \quad \Sigma \quad \dot{\bar{t}}$$

$$\text{"} \quad \quad \quad \text{"} \quad 3 \quad \quad \quad 3 \quad \quad \quad 0 \quad \ddot{\text{U}} \quad 0$$

$$6 \quad \dot{\bar{t}}$$

$$\begin{aligned} & \quad \quad \quad \dot{\bar{t}} \quad \quad \quad \dot{\bar{t}} \quad \quad \quad 36 \\ & \quad \quad \quad \dot{\bar{t}} \quad \quad \quad \dot{\bar{t}} \quad \quad \quad 18 \end{aligned}$$

$$\text{e}$$

$$\quad \quad \quad \neq \quad \quad \quad \dot{\bar{t}} \quad \quad \quad \dot{\bar{t}}$$

$$\dot{\bar{t}} \quad \ddot{\text{U}} \quad \quad \quad \ddot{\text{U}}$$

$$\text{"} \quad \quad \quad \text{"} \quad 3 \quad \quad \quad 3 \quad \quad \quad 0 \quad \ddot{\text{U}} \quad 0$$

$$7 \quad \text{' } \quad \ddot{\text{U}}$$

$$\dot{\bar{t}} \quad \text{' } \quad \quad \quad 40,000.00 \quad \quad \quad 61,532.59$$

$$\dot{\bar{t}}$$

$$\vee$$

		⌋

20			40,000.00
	75,637.01		
		61,532.59	

